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37� &RJLQGR� 'D\D� %HUVDPD� �&'%�� LV� D� FRPSDQ\� LQ� WKH� EXVLQHVV� RI� SRZHU�
JHQHUDWLRQ�VLQFH�������$OWKRXJK�WKH�QHHG�IRU�HOHFWULFLW\�JUHZ�RQ�DYHUDJH������
SHU�\HDU�RYHU�WKH�ODVW���\HDUV��DQG�VXSSRUWHG�E\�HFRQRPLF�JURZWK�LV�LQ�WKH�UDQJH�
�������������\HW�WKH�1HW�SURILW�PDUJLQ�37�&'%�LV�RQO\��������DV�ZHOO�DV�UHWXUQ�
RQ� HTXLW\� DW� ����� LQ� ������ GHFOLQLQJ� IURP� SUHYLRXV� \HDUV�� ,Q� WKLV� WKHVLV� WKH�
H[WHUQDO� DQG� LQWHUQDO� VWUDWHJLF� LVVXHV� DUH� LGHQWLILHG�� DV� ZHOO� DV� NH\� VXFFHVV�
IDFWRUV� LQ� WKH� SRZHU� JHQHUDWLRQ� LQGXVWU\�� %\� XVLQJ� 72:6�PDWUL[�� ,(� PDWUL[��
63$&(� PDWUL[� WRRO�� DOWHUQDWLYH� VWUDWHJLHV� DUH� IRUPXODWHG� DFFRUGLQJO\��
)XUWKHUPRUH��4630�ZLOO�EH�XVHG�WR�VHOHFW�WKH�PRVW�DSSURSULDWH�VWUDWHJ\��EDVHG�
RQ�3RUWHU¶V�JHQHULF�VWUDWHJ\��,Q�WKH�HQG��WKH�DFWLRQ�SODQV�ZLOO�EH�GHYHORSHG�WR�
LPSOHPHQW�WKH�VWUDWHJ\�LQ�RUGHU�WR�PHHW�������QHW�SURILW�PDUJLQ�LQ�������

.H\ZRUGV�� LQWHUQDO� DQDO\VLV�� H[WHUQDO� DQDO\VLV�� NH\� VXFFHVV� IDFWRUV�� 72:6�
PDWUL[��,(�PDWUL[��63$&(�PDWUL[��4630��1HW�3URILW�0DUJLQ�
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37�&RJLQGR�'D\D�%HUVDPD� �&'%��DGDODK�SHUXVDKDDQ�\DQJ�EHUJHUDN�GDODP�
ELVQLV�SHPEDQJNLW�WHQDJD�OLVWULN�VHMDN�WDKXQ�������0HVNLSXQ�NHEXWXKDQ�HQHUJL�
OLVWULN� PHQJDODPL� SHUWXPEXKDQ� UDWD�UDWD� ����� SHU� WDKXQ� VHODPD� �� WDKXQ�
WHUDNKLU��GDQ�GLGXNXQJ�SHUWXPEXKDQ�HNRQRPL�\DQJ�EHUDGD�GDODP�UHQWDQJ������
�� ������ QDPXQ�1HW� 3URILW�0DUJLQ� 37� &'%� KDQ\D� EHUDGD� SDGD� DQJND� ������
EHJLWX� MXJD� 5HWXUQ� 2Q� (TXLW\� SDGD� DQJND� ����� GL� WDKXQ� ������ PHQXUXQ�
GLEDQGLQJNDQ� GHQJDQ� WDKXQ�WDKXQ� VHEHOXPQ\D�� 3DGD� WHVLV� LQL� LVVXH�LVVXH�
VWUDWHJLV�HNVWHUQDO�GDQ�LQWHUQDO�GLLGHQWLILNDVL��EHVHUWD�IDNWRU�IDNWRU�NXQFL�VXNVHV�
GL�LQGXVWUL�SHPEDQJNLW�OLVWULN��'HQJDQ�PHQJJXQDNDQ�WRRO�PDWULNV�72:6��PDWULNV�
,(��PDWULNV�63$&(��GLIRUPXODVLNDQ�DOWHUQDWLI�VWUDWHJL�\DQJ�VHVXDL��6HODQMXWQ\D�
WRRO�4630�GLSHUJXQDNDQ�XQWXN�PHPLOLK�VWUDWHJL�\DQJ�SDOLQJ�WHSDW�EHUGDVDUNDQ�
JHQHULF�VWUDWHJ\�3RUWHU��3DGD�DNKLUQ\D��GLVXVXQ�UHQFDQD�UHQFDQD�NHUMD�VHEDJDL�
WDKDSDQ� LPSOHPHQWDVL�VWUDWHJL� \DQJ�GLSLOLK�GHQJDQ�VDVDUDQ�1HW�3URILW�0DUJLQ
GDSDW�PHQFDSDL�������GL�WDKXQ�������

.DWD� NXQFL� ��$QDOLVLV� LQWHUQDO�� DQDOLVLV�HNVWHUQDO�� IDNWRU� NXQFL� VXNVHV��PDWULNV�
72:6��PDWULNV�,(��PDWULNV�63$&(��4630��1HW�3URILW�0DUJLQ


